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>> A=[1 2 3 4;2 3 1 5;3 1 7 3;4 5 3 2]

A =

     1     2     3     4

     2     3     1     5

     3     1     7     3

     4     5     3     2

>> A'­A

ans =

     0     0     0     0

     0     0     0     0

     0     0     0     0

     0     0     0     0

>> [u v]=eig(A)

u =

    0.4575    0.7838    0.0564    0.4162

    0.4455   ­0.5306    0.5779    0.4313

    0.0465   ­0.2900   ­0.7471    0.5963

   ­0.7682    0.1416    0.3235    0.5341

v =

   ­3.4636         0         0         0

         0   ­0.7417         0         0

         0         0    4.7011         0

         0         0         0   12.5041

>> inv(u)*A'u

 inv(u)*A'u

         |

Error: Unexpected MATLAB expression.

 

>> inv(u)*A*u

ans =

   ­3.4636    0.0000    0.0000   ­0.0000

    0.0000   ­0.7417   ­0.0000    0.0000

   ­0.0000   ­0.0000    4.7011         0

    0.0000   ­0.0000    0.0000   12.5041

>>
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